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1" doknon

Data types,
Input-ougput

YAommolLelote 1O mOpokATW ITEOYQAUU :
import java.util.Scanner;
class MyClassl {
public static void main (String[] args) {
ArapBaletr 1o Svopa €vég meddtn (oA@oapLOpnT LKO)
Avapaletr tnv nAitkia ToUu (aKEpaLOQ)
ArapBalel tov apLOpd pnipdou tTou (aAPapLOunTLKO)
EppavileL otnv 006vn 11¢ mapandve mnAnpopopieg Ei:\;;>‘
}//main

}//MyClassl



1" doknon

import java.util.Scanner;

class MyClassl {

public static void main (String[] args) { Output - UNI2022 (run) &

S

Scanner s = new Scanner (System.in) ; HD rumn:
String customerName; L:L} IZ—:?.ve the customer name:George
=ive the age:i7
int age; Give the mitroo:alZ34s
String mitroo; EJI‘-?D Customer name is George.
Hisz age i3z7.

System.out.print ("Give the customer name:");
y 13 ( )7 His mitroo is 212345
customerName=s .nextLine () ; BUILD SUCCESSFUL (total time: 12 seconds)

System.out.print ("Give the age:");

age=s.nextInt() ;
System.out.print ("Give the mitroo:");

mitroo=s.next () ;

System.out.printf ("Customer name is %s.%nHis age is%d.%nHis mitroo is %s%n",
customerName, age, mitroo);
}//main

}//MyClassl



2" aoknon

Data types,
YAommolLeloTe TO NUPUKAT® TTPOYPOUU : Iﬁpuﬁa@gﬁpgji
import java.util.Scanner;
class MyClass2 {
public static void main(String[] args) {
AvapaleL tpeLg¢ akepaioug,
YnoloyileL 1o &BpoiLopd tTOUQ
EppavileL 10 &Bpoloua
}//main

}//MyClass?2



YAommolLelote 1O mOpokATW ITEOYQAUU :
import java.util.Scanner;
class MyClass2 {
public static void main (String[] args) {
Scanner s = new Scanner (System.in) ;
int numl, num2, num3, sum;
System.out.print("Give the numberl:");
numl=s.nextInt () ;
System.out.print ("Give the number2:") ;
num2=s.nextInt () ;
System.out.print ("Give the number3:") ;
num3=s.nextInt () ;
sum=numl+num2+num3 ;
System.out.printf ("%$d+%d+%d=%d%n",
numl, num2, numl=3, sum);
}//main

}//MyClass?2

2" aoknon

Qutput - UNI2022 (run) &

u> rur:
u> Fiwve the numbkerl:17
Fiwve the numberZ:32
Fiwve the numbker3:5
%% 17+32+3=54
BUILD SUCCESSFUL (total time:

& geconds)



Data types,
Input-output,
Conirol flow

3" doknon

YAormolLe({oTe TO TMOPOUKAT® TIPOYQOUU :
import java.util.Scanner;
class MyClass2 {
public static void main (String[] args) {
Arafalel emavoAnmnt LKA akepaioug aplLOpoug
BéXpL o xphotng va dadcetr tnv tTipf O
YmoloyileL 10 &6poLopd TOUC c~T
EppavileL 10 &OpoLloua
}//main

}//MyClass?2



YAomole{oTe 10 mUPAKATw TPOYPOUU:

import java.util.Scanner;

3" doknon

public static void main(String[] args) {

Scanner s = new Scanner (System.in) ;
Debugger Console 32 | UMI2022 (run) ==

int num, sum;

S

String expr=""; ]
Zive the next number:13

num=0; . .
! Five the next number:145

sum=0; Five the next number:

do { Zive the next number:87

5
g
Zive the next number:4
Ziwve the next number:0
num=s.nextInt() ; 13+145+5+87+4=254

if (num!'=0) ({ BUILD SUCCESSEUL (total time:

System.out.print("Give the next number:");

sum+=num;

if (expr=="")

expr=String.valueOf (num) ;
else
expr=expr+"+"+ (new Integer (num)) .toString() ;
// expr=expr+"+"+System.out.printf ("%d",num) ;

// expr=(expr=="") ?String.valueOf (num) :expr+"+"+String.valueOf (num) ;

}

while (num!'=0) ;

System.out.printf ("%$s=%d%n" ,expr, sum) ;
}//main

}//MyClass?2

14 seconds)



TO HEYOAUTEPO OAKEPALO:
import java.util.Scanner;
class myApp{
public static void main(String args([]) {
ALdPace évav arépalo a
ALdpace évav arképato b
ALdpace évav arépalo C
YnoAdyLoe To pEYOAUTEPO AKEPALO max
Eppdvice 1o max
}//main
}

O unmoAoyLopdg TOU PEYOAUTEPOU_ OKEpPAioU mpémeL va yivel
findMax () §n omoia mpemetL va vdomoiLnOei otnv KA&oyn MyMet

class MyMethods {
findMax (int a, int b, int c) {

}

h

4" @oknon

YAonmotieiote tnv noapakdte KA&on (myApp) nou diLapfalet tpeLg arepaioug Kalt gppavilet

Class and
Object Methods

€ KAfon tng pebdddou
ods:




import java.util.Scanner;

class myApp{

S
%d%n",num¥

——

public static void main (String args|[]) {
Scanner s = new Scanner (System.in) ;
int numl, num2, num3;
System.out.print("Give the numberl:") ;

numl=s.nextInt () ;

System.out.print("Give the number2:");

num2=s.nextInt () ;

System.out.print("Give the number3:");

num3=s.nextInt () ;

4" @oknon

class MyMethods {
public static int findMax (int a,

int maxnum=-999;
if (maxnum<a) maxnum=a;
if (maxnum<b) maxnum=b;
if (maxnum<c) maxnum=c;
return maxnum;
Cutput 2
[ Debugger Console 22 | UNI2022 (run) =

47 rumn:
Giwve the numberl:14
%% Giwve the numberZ:32
Giwve the number3:5

int b, int c¢)

The max number between 14 32 and 5 is 32
BUILD SUCCESSFUL (total time: & seconds)

stem.out.printf ("The max number between %d %d and %d is
, num2, num3, MyMethods.findMax (numl, num2, num3)); }//main

{
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